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QUESTION 1

What authorization is needed to execute the CREATE MASK statement? 

A. SECADM 

B. SQLADM 

C. SYSADM 

D. SYSCTRL 

Correct Answer: A 

 

QUESTION 2

Which data movement utility is suitable for moving and processing large amounts of real-time data without affecting
availability? 

A. INGEST 

B. REPLICATION 

C. LOAD WITH READ ACCESS 

D. IMPORT WITH BUFFERED INSERT 

Correct Answer: A 

 

QUESTION 3

Which two server authentication methods are supported by transparent Lightweight Directory Access Protocol (LDAP)?
(Choose two.) 

A. CLIENT 

B. SERVER 

C. LDAP_PLUGIN 

D. DATA_ENCRYPT 

E. KERBEROS_PLUGIN 

Correct Answer: BD 

 

QUESTION 4

Which statement about DB2 aggregate registry variables is true? 
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A. An aggregate registry variable that is explicitly set by an application cannot be overwritten. 

B. An aggregate registry variable overrides any corresponding explicitly set registry variable. 

C. A registry variable that is explicitly set by an application can only be overwritten by aggregate registry variable. 

D. A registry variable that is implicitly configured through an aggregate registry variable may also be explicitly defined. 

Correct Answer: D 

 

QUESTION 5

Which administrative authority is needed to grant ACCESSCTRL, DATAACCESS, or SECADM authority to other users,
groups, or roles? 

A. DBADM 

B. SYSADM 

C. SQLADM 

D. SECADM 

Correct Answer: D 
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